

Informazione Regolamentata n. 20250-110-2025

Data/Ora Inizio Diffusione 9 Dicembre 2025 17:45:07

Euronext Milan

Societa': TECHNOPROBE

Utenza - referente : TECHNOPROBEN04 - Di Terlizzi

Tipologia : REGEM

Data/Ora Ricezione : 9 Dicembre 2025 17:45:07

Data/Ora Inizio Diffusione : 9 Dicembre 2025 17:45:07

Oggetto : WEEKLY PRESS RELEASE ON TREASURY

SHARES BUYBACK PLAN

Testo del comunicato

Vedi allegato







emarket sdir storage

Technoprobe S.p.A. Via Cavalieri di Vittorio Veneto. 2 23870. Cernusco Lombardone (LC) - Italy www.technoprobe.com

PRESS RELEASE

WEEKLY PRESS RELEASE ON TREASURY SHARES BUYBACK PLAN

Cernusco Lombardone (LC). *December 9, 2025* - Technoprobe S.p.A., a leading company in the design and production of probe cards (the "**Company**" or "**Technoprobe**") listed on Euronext Milan, declares the purchase on the Euronext Milan market, according to the Shareholders' Meeting on July 10, 2025 approval and initiated by the Board of Directors on July 23, 2025 (already object of informative also according to art.144 bis of the Consob Regulation 11971/99 and art. 132 of Legislative Decree no. 58/98), in the period from December 1, 2025 to December 5, 2025, of n. 115,000 ordinary shares (equal to 0,01760% of the share capital) at the weighted average price of Euro 13.203376 for a total value of EUR 1,522,174.60.

Purchases were made through the intermediary Intesa SanPaolo S.p.A.

Below there is a detail of the purchases made on the ordinary shares of Technoprobe S.p.A., code ISIN IT0005482333, on a daily basis, in detail, the transactions made in the aforementioned period.

Date	Quantity	Average price (Euro)	Countervalue (Euro)
01/12/2025	20,000	12.85777	257,155.40
02/12/2025	25,000	12.97294	324,323.50
03/12/2025	10,000	13.29975	132,997.50
04/12/2025	20,000	13.38793	267,758.60
05/12/2025	40,000	13.49849	539,939.60

The details of all the purchase transactions carried out in the period indicated above are reported in the following pages.

Therefore as at December 5, 2025, the Company owns 12,134,872 ordinary shares (equal to 1.85758% of the share capital).

This press release is available on Technoprobe's website https://www.technoprobe.com in the Investor Relations section and on the authorized storage system named eMarket Storage" (www.emarketstorage.it).









Contact

Technoprobe S.p.A. Investor Relator Ines Di Terlizzi

Email: ir@technoprobe.com

Technoprobe S.p.A.

Communication & Marketing Manager Paolo Cavallotti

Email: paolo.cavallotti@technoprobe.com

Technoprobe Group

Technophobe is a leading company in the field of semiconductors and microelectronics. Established in 1996. Technoprobe is focused in the design and manufacture of Probe Cards. i.e. electro-mechanical interfaces used for the functional testing of chips. Probe cards are hitech devices that are custom-made for each chip and allow the function of chips to be tested during the manufacturing process. These technologically-advanced designs and solutions are essential for ensuring the proper functioning and reliability of devices that play a crucial role in industries such as Information Technology. 5G. Internet of Things. home automation. automotive. aerospace. etc. Technoprobe headquarters are in Cernusco Lombardone (LC). Since May 2nd. 2023 shares have been transferred to Euronext Milano segment. For more information. visit the website: www.technoprobe.com







Fill ID	Fill Date	Fill Time	B/S	Country	Market	Security Ref.	Fill Price	Fill Qty	Eur
1ZAZIZN7O	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.84	1,000	12840
1ZAZIZN7P	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.84	303	3890.52
1ZAZIZN7Q	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.85	200	2570
1ZAZIZN7R	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.85	620	7967
1ZAZIZN7S	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.85	436	5602.6
1ZAZIZN7T	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.85	592	7607.2
1ZAZIZN7U	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	200	2572
1ZAZIZN7V	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	720	9259.2
1ZAZIZN7W	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	436	5606.96
1ZAZIZN7X	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	3,751	48237.86
1ZAZIZN7Y	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	599	7703.14
1ZAZIZN7Z	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	484	6224.24
1ZAZIZN80	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	2,000	25720
1ZAZIZN81	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	2,872	36933.92
1ZAZIZN82	01/12/2025	13:15:31	Buy	IT.ico	MTA	TPRO	12.86	5,787	74420.82
1ZAZJ0172	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	12.98	384	4984.32
1ZAZJ0173	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	12.98	82	1064.36
1ZAZJ0174	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	12.98	814	10565.72
1ZAZJ0175	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	12.98	2,000	25960
1ZAZJ0176	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	12.99	607	7884.93
1ZAZJ0177	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	12.99	385	5001.15
1ZAZJ0178	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	2	26
1ZAZJ0179	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	384	4992
1ZAZJ017A	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	637	8281
1ZAZJ017B	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	657	8541
1ZAZJ017C	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	419	5447
1ZAZJ017D	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	4,440	57720
1ZAZJ017E	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	498	6474
1ZAZJ017F	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	600	7800
1ZAZJ017G	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	896	11648
1ZAZJ017H	02/12/2025	11:44:42	Buy	IT.ico	MTA	TPRO	13	2,195	28535
1ZAZJ06ST	02/12/2025	15:32:14	Buy	IT.ico	MTA	TPRO	12.93	101	1305.93
1ZAZJ06SU	02/12/2025	15:32:14	Buy	IT.ico	MTA	TPRO	12.94	1,209	15644.46
1ZAZJ06SV	02/12/2025	15:32:14	Buy	IT.ico	MTA	TPRO	12.94	200	2588
1ZAZJ06SW	02/12/2025	15:32:14	Buy	IT.ico	MTA	TPRO	12.94	94	1216.36
1ZAZJ06SX	02/12/2025	15:32:14	Buy	IT.ico	MTA	TPRO	12.94	385	4981.9
1ZAZJ06SY	02/12/2025	15:32:14	Buy	IT.ico	MTA	TPRO	12.94	271	3506.74

Technoprobe S.p.A. - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.







1ZAZJ06SZ	02/12/2025	15:32:15	Buy	IT.ico	MTA	TPRO	12.94	2,018	26112.92
1ZAZJ06T0	02/12/2025	15:32:15	Buy	IT.ico	MTA	TPRO	12.94	539	6974.66
1ZAZJ06T1	02/12/2025	15:32:15	Buy	IT.ico	MTA	TPRO	12.94	1,098	14208.12
1ZAZJ06T2	02/12/2025	15:32:15	Buy	IT.ico	MTA	TPRO	12.94	2,500	32350
1ZAZJ06T3	02/12/2025	15:32:15	Buy	IT.ico	MTA	TPRO	12.94	1,585	20509.9
1ZAZJ0QBO	03/12/2025	15:11:18	Buy	IT.ico	MTA	TPRO	13.29	250	3322.5
1ZAZJ0QBP	03/12/2025	15:11:18	Buy	IT.ico	MTA	TPRO	13.3	200	2660
1ZAZJ0QBQ	03/12/2025	15:11:18	Buy	IT.ico	MTA	TPRO	13.3	583	7753.9
1ZAZJ0QBR	03/12/2025	15:11:18	Buy	IT.ico	MTA	TPRO	13.3	695	9243.5
1ZAZJ0QBS	03/12/2025	15:11:18	Buy	IT.ico	MTA	TPRO	13.3	294	3910.2
1ZAZJ0QBT	03/12/2025	15:11:18	Buy	IT.ico	MTA	TPRO	13.3	4,511	59996.3
1ZAZJ0QCA	03/12/2025	15:11:58	Buy	IT.ico	MTA	TPRO	13.3	932	12395.6
1ZAZJ0QCB	03/12/2025	15:11:58	Buy	IT.ico	MTA	TPRO	13.3	2,535	33715.5
1ZAZJ17XM	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.37	150	2005.5
1ZAZJ17XN	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.37	138	1845.06
1ZAZJ17XO	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.37	145	1938.65
1ZAZJ17XP	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.37	184	2460.08
1ZAZJ17XQ	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.37	64	855.68
1ZAZJ17XR	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.37	128	1711.36
1ZAZJ17XS	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.37	200	2674
1ZAZJ17XT	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.38	200	2676
1ZAZJ17XU	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.38	148	1980.24
1ZAZJ17XV	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.38	196	2622.48
1ZAZJ17XW	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.38	194	2595.72
1ZAZJ17XX	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.38	647	8656.86
1ZAZJ17XY	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.38	744	9954.72
1ZAZJ17XZ	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	189	2530.71
1ZAZJ17Y0	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	197	2637.83
1ZAZJ17Y1	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	771	10323.69
1ZAZJ17Y2	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	648	8676.72
1ZAZJ17Y3	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	406	5436.34
1ZAZJ17Y4	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	432	5784.48
1ZAZJ17Y5	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	437	5851.43
1ZAZJ17Y6	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	4,335	58045.65
1ZAZJ17Y7	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	4,335	58045.65
1ZAZJ17Y8	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	2,165	28989.35
1ZAZJ17Y9	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	1,165	15599.35
1ZAZJ17YA	04/12/2025	14:45:46	Buy	IT.ico	MTA	TPRO	13.39	1,782	23860.98
1ZAZJ1XA9	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.52	200	2704

Technoprobe S.p.A. - VAT No. and Tax Code 02272540135 - Share Capital € 6.532.608.70 - Economic and Administrative Index no. 283619 All rights reserved. The COPYRIGHT of this document is property of TECHNOPROBE S.p.A. No part of this document may be copied. reprinted or reproduced in any material form. whether wholly or in part. without a written consent. The contents or methods or techniques contained herein are CONFIDENTIAL. therefore must not be disclosed to any other person or company or entity.









1ZAZJ1XAA	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.52	155	2095.6
1ZAZJ1XAB	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.53	534	7225.02
1ZAZJ1XAC	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.53	213	2881.89
1ZAZJ1XAD	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.53	202	2733.06
1ZAZJ1XAE	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.53	450	6088.5
1ZAZJ1XAF	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.53	218	2949.54
1ZAZJ1XAG	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.53	7,000	94710
1ZAZJ1XAH	05/12/2025	16:21:50	Buy	IT.ico	MTA	TPRO	13.53	1,028	13908.84
1ZAZJ1XRJ	05/12/2025	16:30:29	Buv	IT.ico	MTA	TPRO	13.46	312	4199.52
1ZAZJ1XRK	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.46	38	511.48
1ZAZJ1XRL			,	IT.ico		TPRO	13.46	162	
	05/12/2025	16:30:29	Buy		MTA				2180.52
1ZAZJ1XRM	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.47	200	2694
1ZAZJ1XRN	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.47	222	2990.34
1ZAZJ1XRO	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.47	681	9173.07
1ZAZJ1XRP	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.48	450	6066
1ZAZJ1XRQ	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.48	200	2696
1ZAZJ1XRR	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.48	205	2763.4
1ZAZJ1XRS	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.48	196	2642.08
1ZAZJ1XRT	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.48	196	2642.08
1ZAZJ1XRU	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.48	700	9436
1ZAZJ1XRV	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	449	6057.01
1ZAZJ1XRW	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	752	10144.48
1ZAZJ1XRX	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	457	6164.93
1ZAZJ1XRY	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	545	7352.05
1ZAZJ1XRZ	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	400	5396
1ZAZJ1XS0	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	157	2117.93
1ZAZJ1XS1	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	17,768	239690.3
1ZAZJ1XS2	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	3,756	50668.44
1ZAZJ1XS3	05/12/2025	16:30:29	Buy	IT.ico	MTA	TPRO	13.49	2,154	29057.46

Fine Comunicato n.20250-110-2025

Numero di Pagine: 7